SEROW250 of

"Off-10ad small niden’s specifications”
produced by DIRTFREAK

We made a custom SEROW to make it easier
for small riders to ride. Not to mention the
looks, the parts that off-road small riders think
"Attentive to the needs"are customized.

The lowdown and handle position are
compactly set so that it can be adapted to a
small rider.

Operability is also improved by installing levers and
grips that make it easier to control even with small
hands.

We are particular about weight reduction such
as themuffler and tail holder, and reduce the
risk of falling by making the handling of the
bike lighter.

Equipped with safe protective parts that firmly
protect the parts if they are damaged even if
they fall over at the touring destination.



CROSS COUNTRY

Cross-country race specification

“SEROW 250 Cross-Country"
with full-scale enduro

A cross-country race specification
customized based on the concept of

the SEROW 250 used by Kenji Suzuki,
DIRTFREAK promotion rider, for the 2016
All Japan Enduro Championship Hidaka
2 Days. We have a rich lineup of special
parts such as wheels, suspensions,
guards, brake parts, and mufflers, which
are important points when customizing an
enduro bike.



/

TOURING

SEROW250 TOURING
Touring custom spec’ the best for
long-riding and camping touring.

The high popularity SEROW 250 known as £
a touring is customized to pursue comfort

in touring. )' 2
Allows reduced fatigue for long-riding,
and has the loading and controllable
performance for touring.

&
,
-

",
I



&7/~ DIRTFREAIC APPLICATION by MODEL

SEROW250

SEROW250
SEROW225WE/250,XT225
SEROW225/250

XT250

SEROW225/250

XT250

SEROW225/250

XT250

SEROW225/250

XT250

SEROW225/250

XT250

SEROW225/250

XT250
SEROW225/250,TRICKER
SEROW225/250,TRICKER
SEROW225/250,TRICKER
SEROW225/250,TRICKER
SEROW225/250,TRICKER
SEROW250

XT250

SEROW250

SEROW250

SEROW250

XT250

SEROW250

SEROW250

XT250

SEROW250
XT250
SEROW250
XT250

SEROW250
XT250
SEROW250
XT250
SEROW250
XT250
SEROW250
XT250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
XT250
SEROW250
XT250
SEROW250
XT250
SEROW250
XT250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
XT250
SEROW250
XT250
SEROW250
XT250
SEROW250
XT250
SEROW250
XT250

SEROW250
SEROW250
SEROW250
SEROW250
SEROW250
SEROW250

SEROW250
XT250
SEROW250
XT250
SEROW250
SEROW250

Year | Description
ZETA

05-20 Top Clamp SX

05-20 Top Clamp COMP

93-20 COMP Stabilizer W85
86-20 Pivot B-Lever CP 3-Fin
08-21 Pivot B-Lever CP 3-Fin
86-20 Pivot B-Lever CP 4-Fin
08-21 Pivot B-Lever CP 4-Fin
86-20 Pivot C-Lever CP 3-Fin
08-21 Pivot C-Lever CP 3-Fin
86-20 Pivot C-Lever CP 4-Fin
08-21 Pivot C-Lever CP 4-Fin
86-20 Pivot Lever Set CP 3Fi Black
08-21 Pivot Lever Set CP 3Fi Black
86-20 Pivot Lever Set CP 3Fi Blue
08-21 Pivot Lever Set CP 3Fi Blue
00-20 Alu. Throttle Tube STD
00-20 Alu. Throttle Tube Quick
00-20 Alu. Throttle Tube Closed
00-20 Throttle Tube Closed End
00-20 Throttle Tube Open End
05-20 FrameGuard

08-21 FrameGuard

05-20 Headlight Guard

05-20 Headlight Guard Rep. PC Protector
18-20 ED Skid Plate LT

08-21 ED Skid Plate LT

05-20 FrontFork Cap Gold

05-20 S.Stand Extender BIk/Slv
08-21 S.Stand Extender BIk/Slv

05-20 Forged Al.
08-21 Forged Al.
05-20 Forged Al.
08-21 Forged Al.

KickStand Low
KickStand Low
KickStand High
KickStand High

05-20 Forged Al. KickStand Option&Rep.Tip 30mm
08-21 Forged Al. KickStand Option&Rep.Tip 30mm
05-20 Forged Al. KickStand Option&Rep.Tip 55mm
08-21 Forged Al. KickStand Option&Rep.Tip 55mm
05-20 Forged Al. KickStand Option&Rep.Tip 80mm
08-21 Forged Al. KickStand Option&Rep.Tip 80mm
05-20 Forged Al. KickStand Option&Rep.Tip 105mm
08-21 Forged Al. KickStand Option&Rep.Tip 105mm
05-20 Magnetic Drain Bolt M12x15-P1.5 Blue
05-20 Magnetic Drain Bolt M12x15-P1.5 Red

05-20 Stem Nut M22x27-P1.0 H12 Blue

05-20 Stem Nut M22x27-P1.0 H12 Red

05-20 Adv.WindShield Serow250

05-20 Drive Cover Ti-Color

05-20 Heel Guard Black

07-20 Durable Chain Guide Ti-Color

05-20 F-Brake Reservoir Cover Blue

08-21 F-Brake Reservoir Cover Blue

05-20 F-Brake Reservoir Cover Red

08-21 F-Brake Reservoir Cover Red

05-20 R-Brake Reservoir Cover Blue

08-21 R-Brake Reservoir Cover Blue

05-20 R-Brake Reservoir Cover Red

08-21 R-Brake Reservoir Cover Red

05-20 Engine Plugs Red

05-20 Engine Plugs Blue

05-20 Oil Filler Plug Red

05-20 Oil Filler Plug Blue

05-20 R-Brake Clevis Black

05-20 R-Brake Clevis Blue

05-20 Oil Filter Cover Black

05-20 Revolver Shift Lever Black

08-21 Revolver Shift Lever Black

05-20 Revolver Shift Lever Rep. Tip Mount Straight Black
08-21 Revolver Shift Lever Rep. Tip Mount Straight Black
05-20 Revolver Shift Lever Rep. Tip 28mm Ti-Color
08-21 Revolver Shift Lever Rep. Tip 28mm Ti-Color
05-20 Trigger Brake Pedal Black

08-21 Trigger Brake Pedal Black

05-20 Aluminum FootPegs Black

08-21 Aluminum FootPegs Black

05-20 Grb5-Ti B-Disk FlangeBolt Set 6-M6 17mm 6pcs

05-20 Gr5-Ti B-Disk ThinHeadBolt Set 10-M8 20mm 3pcs

05-20 Gr5-Ti Flange Bolt Set M8 35mm 4pcs

05-20 Gr5-Ti Flange Bolt Set M8 40mm 4pcs

05-20 Gr5-Ti Flange Bolt Set M10 30mm 2pcs

05-20 Gr5-Ti Cap Screw Set M8 30mm 4pcs
Z-WHEEL

05-20 Wheel Bearing Set F

08-21 Wheel Bearing Set F

05-20 Wheel Bearing Set R

08-20 Wheel Bearing Set R

05-20 R50 Rim 18-2.15 36H-3 Black

05-20 R50 Rim 21-1.60 36H-1 Black

Part number

ZE11-4233
ZE12-4233
ZE33-2085
ZE41-3161
ZE41-3161
ZE41-4161
ZE41-4161
ZE42-3160
ZE42-3160
ZE42-4160
ZE42-4160
ZE44-8011
ZE44-8011
ZE44-8012
ZE44-8012
ZE45-5001
ZE45-5101
ZE45-5201
ZE45-8001
ZE45-8101
ZE52-0313
ZE52-0313
ZE52-4400
ZE52-4990
ZE55-2470
ZE55-2470
ZE56-10524
ZE56-6610
ZE56-6610
ZE56-8639
ZE56-8639
ZE56-8649
ZE56-8649
ZE56-8909
ZE56-8909
ZE56-8919
ZE56-8919
ZE56-8929
ZE56-8929
ZE56-8939
ZE56-8939
ZE58-1522
ZE58-1523
ZE58-2022
ZE58-2023
ZE70-1411
ZEB80-9606
ZE81-2051
ZE82-2308
ZE86-1501
ZE86-1501
ZEB86-1503
ZE86-1503
ZE86-5101
ZEB86-5101
ZE86-5103
ZE86-5103
ZE89-1410
ZE89-1412
ZE89-2210
ZE89-2212
ZE89-5030
ZE89-5034
ZE90-1321
ZE90-3360
ZE90-3360
ZE90-3900
ZE90-3900
ZE90-3930
ZE90-3930
ZE90-7350
ZE90-7350
ZE93-1670
ZE93-1670

ZT31-0556
ZT31-3743
ZT83-2354
ZT83-2404
ZT84-2302
ZT87-1304

DC601-7120
DC601-7120
DC601-7743
DC601-7743
W01-64431
W01-92411



&7/~ DIRTFREAIC APPLICATION by MODEL

| Year | Description | Part number
Z-WHEEL

SEROW250 05-20 R50 Rim 21-1.60 36H-1 Black W01-92411G
SEROW250 05-20 R50 Rim 21-1.60 36H-1 Red W01-92413
SEROW250 05-20 R50 Rim 21-1.60 36H-1 Green W01-92414
SEROW250 05-20 R50 Rim 21-1.60 36H-1 Silver W01-92418
SEROW250 05-20 M50 MotardRim 17-3.50 36H-1 Black WO03-57411
SEROW250 05-20 M50 MotardRim 17-4.50 36H-1 Black W03-59421
SEROW250 05-20 SUS304 Spoke Set F W10-27360
SEROW250 05-20 SUS304 Spoke Set R AR Trail W10-27741
SEROW250 05-20 SUS304 Spoke Set F W10-29110
SEROW250 05-20 SUS304 SM-Z Spoke Set 17" 36pcs F Trail-A W13-17521
SEROW250 05-20 SUS304 SM-Z Spoke Set 17" 36pcs R Trail-A W13-27521
SEROW250 05-20 F-Wheel 1.60-21 Serow225/250'85- W21-47531
SEROW?250 05-20 R-Wheel 2.15-18 Serow225/250'93- W21-57561
SEROW250 05-20 AR1 Motard Wheel Set F W27-17531
SEROW250 05-20 AR1 Motard Wheel Set F W27-17538
SEROW250 05-20 AR1 Motard Wheel Set R W27-27531
SEROW250 05-20 AR1 Motard Wheel Set R W27-27538
SEROW250 05-20 Aluminum Nipple P3 36pcs Black W31-P3361
SEROW250 05-20 Aluminum Nipple P3 36pcs Blue W31-P3362
SEROW250 05-20 Aluminum Nipple P3 36pcs Red W31-P3363
SEROW250 05-20 Aluminum Nipple P3 36pcs Green W31-P3364
SEROW250 05-20 Aluminum Nipple P3 36pcs Yellow W31-P3365
SEROW250 05-20 Aluminum Nipple P3 36pcs Silver W31-P3368H
SEROW250 05-20 Aluminum Nipple Q4 36pcs Black W31-Q4361
SEROW250 05-20 Astelight Hub F Ti-Color W41-42138
SEROW250 05-20 Astelight Hub R Ti-Color W41-42238
SEROW250 05-20 F-DiskRotor SUS W51-10336
XT250 08-20 F-DiskRotor SUS W51-10336
SEROW250 05-20 R-DiskRotor SUS, Tricker W51-20336
XT250 08-20 R-DiskRotor SUS, Tricker W51-20336
SEROW250/XT250 05-20 Brake Hose F C.BLK W61-10011
SEROW250/XT250 05-20 Brake Hose R C.BLK W61-25031
DRC
SEROW225/S/W/WE/250 86-20 EX Joint Gasket D31-41-660
SEROW250 05-20 Dura F-Sprocket 428-13T D331-415-13
XT250 08-20 Dura F-Sprocket 428-13T D331-415-13
SEROW250 05-20 Dura F-Sprocket 428-14T D331-415-14
XT250 08-20 Dura F-Sprocket 428-14T D331-415-14
SEROW250 05-20 Dura F-Sprocket 428-15T D331-415-15
XT250 08-20 Dura F-Sprocket 428-15T D331-415-15
SEROW250 05-20 Dura R-Sprocket 428-45T D34-55-045
XT250 08-20 Dura R-Sprocket 428-45T D34-55-045
SEROW250 05-20 Dura R-Sprocket 428-48T D34-55-048
XT250 08-20 Dura R-Sprocket 428-48T D34-55-048
SEROW250 05-20 Dura R-Sprocket 428-50T D34-55-050
XT250 08-20 Dura R-Sprocket 428-50T D34-55-050
SEROW250 05-20 Clutch Lever STD D40-01-706
XT250 08-21 Clutch Lever STD D40-01-706
SEROW250 05-20 Clutch Lever Short D40-03-706
XT250 08-21 Clutch Lever Short D40-03-706
XT250 08-21 Brake Lever STD D40-11-410
SEROW250 05-20 Brake Lever STD D40-11-606
XT250 08-21 Brake Lever Short D40-13-410
SEROW250 05-20 Brake Lever Short D40-13-606
SEROW250 18-20 Edge T/L Holder kit Smoke-Lense D45-18-532
SEROW250 18-20 Edge T/L Holder kit Red-Lense D45-18-732
SEROW250 05-20 Rear Shock Link Kit LowDown D46-01-234
SEROW250 05-20 Rear Shock Link Kit HighLift D46-01-543
SEROW250/TRICKER 04-20 FootPegs Spring/Pin Set D48-01-112
XT250 08-21 FootPegs Spring/Pin Set D48-01-112
SEROW250/TRICKER 04-20 Wide Foot Pegs CrMo Mid D48-02-535
XT250 08-21 Wide Foot Pegs CrMo Mid D48-02-535
SEROW250 05-20 Side Bag Support D60-01-321
XT250 08-21 Side Bag Support D60-01-321
SEROW250 05-20 Touring Carrier D60-10-321
XT250 08-21 Tourinﬁ Carrier D60-10-321
SEROW250 18-20 Torq Head Pipe DL30-2203
SEROW250 18-20 Barrel4 Silencer DL30-6205

SEROW250 18-20 Barrel4 JMCA Silencer DL30-7208



	serow_g
	serow_c
	serow_h1
	serow_h2

